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The figures in the margin indicate full marks
%. Answer any twe of the following : 12x2=24
. {

for the questions

fa) Critically evaluate the main principles of
Q realism. Discuss its importance in
understanding of world politics.

Define foreign policy. Discuss the
relationship between foreign poliey and
diplomacy.

What is power? Discuss the various
sources of national power.

{d) Critically analyse the measures for arms
control and disarmament in the post-
Second World War era.
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Write short notes on any two of the

following : 5x2=10
fa) Systems theory

{b} Liberalism

{¢) Balance of power

{d} Ideology

Answer the following as directed : = 1x6=6
{a) Headquarters of the UNO is located in

{b)

fc)

(d)

which city?
According to the liberals, _i_nternational
politics is a struggle for power.

.{ Write True or False )

Security dilemma is associated with

i) Realists
it} Marxists
{iii) Liberals
iy Behaviouralists

( Choose the correct answer )

Berlin Wall is related to
fii Global commons

{ii) Cold War

(iii) Economic depression
fivy) Human Rights

( Choose the correct answer )
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4. Answer any two of the following :

{a)

(b

{c}

(d)

(3)

Name the present Secretary General
of the UNO.

Who has written the book, The Modem
World System?

Discuss the different types of diplomacy
and analyse its importance in
contemporary times.

Discuss the significance of NAM in the
post-Cold War era.

Evaluate Fukuyama’s views on ideology
and ‘end of history’.

Discuss Kaplan’s views on systems
theory.

5. Write short notes on any two of the

following :

{aj - START

{b} Nuclear Weapons Proliferation

{c¢) Importance of Wilson’s Fourteen Points
{d} Cold War

6. Answer the following as directed :

(@)
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The Twenty Years Crisis, 1919-1939
was written by

{ii W. Wilson

12x2=24

5x2=10

1x6=6
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(b)

(c)

(d)

(e)
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{ii) Morganthau
fiii) E. H. Carr
fiv) Nehru
( Choose the correct answer )
According to liberals, cooperation is not
possible in the internatjonal order.
( Write True or False )
Prisoners Dilemma is associated with
game theory.
( Write True or False )
‘Detente’ is associated with
i) Environment degradation
iy Human Rights
fiii) Cold War
fiv) Refugees
{ Choose the correct answer )

What does CTBT stand for?

Morganthau is associated with
i) Marxism
fii) Feminism
fii) Liberalism
fiv) Realism
( Choose the correct answer )
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